
M Motorized TV Lift Duo X-Large
EAN: 7350022737358







S 1 2 3 4 00.0

960mm

22
0m

m

98
0m

m

Min. 100mm - Max 900mm

M
in

. 1
00

m
m

 - 
M

ax
 6

00
m

m

180mm 140mm

18
0m

m

24
80

m
m

17
3m

m
67

8m
m

115mm

Parts

Screws Tools required

Dimensions

www.multibrackets.com

Columns (with motor) (2) Mount (1) Brackets (2) Column Fixing 
plates (2)

A B C D Remote control (1)

Power cord (1) Wired Remote
Control (1)

Adapter (1)

E

F G O Control Box (1)P Column 
Sync cable

Q

Screw M6x16 (16) Screw M8x12 (8)

M Cross Tapping screws (28)

5mm Spanner (1)H I

M

4mm Spanner (1)J K

Nut M8 (8) L Spare screw pack (1) N



Assembly instructions

www.multibrackets.com

2

3

4 5

Fix the brackets (C) to the columns (A) 
with M6×16*4 scews (H).

Fix the brackets (C) to the mount (B) with 
M8×12*4 scews (I) and M8*4 nuts (L) as 
shown in the picture.

Duty cycle: 2 min ON, 20 min OFF. Connect the column fixings (O and P) 
to the power cord (F) and plug it in to 
the socket on the column.

Attach the VESA bars to the mount.

P

O

F

K

H x4

A

C

J

1 Fix the two columns (A) to 
the fixing plates (D) with 
M6x16 scews (H).

L x8

B

C

I x8

A

H x4

J

D



Operating instructions

www.multibrackets.com

1. Button Explanation

2. Remote Control Pairing:
• Press and hold the “up” button.

• While holding the button, connect the power supply to the adapter and control box.

• Continue holding until you hear a continuous beep, indicating successful pairing.

3. Reset Operation to reset the system:
• Ensure the product installation and control system connections are completed.

• Press and hold the “down” button. 

• The system will enter initialization mode, transitioning from "RST" (RESET) to the initial height on the digital display. 

• When the initial height is displayed, the reset is successful.

4. Stop Operation
Remote Control: 

• When the column is rising or descending and you want to stop it; press the ”Stop” button.

Wired Remote Control: 

• To save a column position, first ensure the column is stationary.

• Press “S” to display “SET” on the Wired Remote Control.

• Press any key from “1”, “2”, “3”, or “4” to save the current position. Each key corresponds to a memory slot.

• Saved positions are retained even after a power failure.

• To move the column to a saved position, press the corresponding memory key (e.g., “1”).

• To stop the column during movement, press the “up” or “down” button on the Wired Remote Control.

5. Operation Protection (Temperature Protection Duty Cycle)
• The lift has a built in safety protection for overheating and blocking objects.

• After 3-4 consecutive cycles, the controller will enter ”Operation Protection Mode”.

• The digital display on the Wired Remote Control will indicate "HOT".

• During this time, both the Remote Control and the Wired Remote Control will be inactive for 20 minutes.

• The system will automatically reset after this period, or you can manually power off (the adapter indicator should turn off).

6. Notice & Safety
• Always consult a professional installer for installation.

• Use this product in accordance with its technical parameters.

• Keep remote controls away from Children.

• Keep the product away from corrosive gases and dusty environments, and ensure it is protected from water.

Light indicator

”Up” button

”Stop” button

”Down” button

S 1 2 3 4 00.0

(Remote control)

(Wired remote control)


